# TRAXON

ProPointTIVI Wall Washer Accessories

Body Finishes:
Gray (RAL 7015) Black (RAL 9005) White (RAL 9003)

WWW.traxon-ecue.com



Accessories Dimensions

ProPoint Washer 20W Full Glare Shield

2.2mm/0.1”

70mm/2.8"

3-¢6.5mm/¢$0.3” *jj

s

¢ 129mm/¢5.1" ¢108.3mm/ ¢ 4.3"

S
€
=
Q

®3.9mm/$0.2"

ProPoint Washer 40W Full Glare Shield

|
2.3nfm/0.1” |
SR \
. = ‘
&
S & \
£ S ‘ 4-¢7.6mm/¢$0.3”
il L | «
T A —
! ¢ 141mm/ ¢ 5.6” ﬁg
$163.8mm/$6.4”

2mm/(

° -

TRAXO N www.traxon-ecue.com

©2023 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED. TRAXON™, TX CONNECT ®, ARE TRADEMARKS OF TRAXON TECHNOLOGIES. U.S. PATENTS, E.U. PATENTS, JAPAN PATENTS,
OTHER PATENTS PENDING. SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.



ProPoint Washer 80W Full Glare Shield

|
_ | 2.5mm/0.17 1
B T\ \
. gl - |
S & \
IS o !
c - ‘ 4-¢7.6mm/ 0.
oL L ‘ .
f \ =
) $196.3mm/ ¢ 7.7 7 S
) $218.9mm/$8.6” S
E IS
- 160 $4.9mm/¢$0.2
o
¥
ProPoint Washer 120W/180W Full Glare Shield
|
2.500m/0.1” |
5\ w
g |
£ )
IS
2 \
= i 4-¢7.6mm/ 0.
‘ |
| Nijme
$264.5mm/ ¢ 10.4” Lﬁf 5
$287.5mm/¢$ 11.3” E
1S
[aVY)
®4.9mm/ 0.2

TRAXON

www.traxon-ecue.com

©2023 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED. TRAXON™, TX CONNECT ®, ARE TRADEMARKS OF TRAXON TECHNOLOGIES. U.S. PATENTS, E.U. PATENTS, JAPAN PATENTS,
OTHER PATENTS PENDING. SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.




ProPoint Washer 20W Half Glare Shield

2.20. ! g
‘ £
5
3-¢6.5mm/$0. ‘h}* i
U | .
¢ 129mm/ ¢ 5.1” % ¢ 108.3mm/ ¢ 4.3”
&
$3.9mm/$0.2
&
¢\'20V“m/d)A
% 2.31nm/0.1”
. < !
~ S~ -
S : |
I
= Ire)
£ . | 4-¢7.6mm/ 0
| U | |
| N
Y ¢14Nn%/¢56’*W” B
< ¢ 163.8mm/$ 6.4” Q
S £
IS S
E ) N
Y A
- \(\;6'
@ o

- TRAXON

www.traxon-ecue.com

©2023 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED. TRAXON™, TX CONNECT ®, ARE TRADEMARKS OF TRAXON TECHNOLOGIES. U.S. PATENTS, E.U. PATENTS, JAPAN PATENTS,

OTHER PATENTS PENDING. SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.



ProPoint Washer 80W Half Glare Shield

| 2.5Mm/0.1” !
w
" e |
&N £
S @ |
£ 3 !
g - ‘ 4-¢7.6mm/ 0.
1 ‘ (e
N $196.3mm/¢7.7" ] s
8 $218.9mm/$8.6” <]
S £
£ £
I (% . o
— ‘®%2
<o $4.9mm/¢0.2
ProPoint Washer 120W/180W Half Glare Shield
_ | 2.5mm/0.1” ‘
g N
= |
.5 |
o 38
s ¢ |
g ! | 4-¢7.6mm/$0.
il 1 {
:N $264.5mm/¢10.4” ]
g ”
£
£
QY

@ 4.9mm/ 0.2

TRAXON

www.traxon-ecue.com

©2023 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED. TRAXON™, TX CONNECT ®, ARE TRADEMARKS OF TRAXON TECHNOLOGIES. U.S. PATENTS, E.U. PATENTS, JAPAN PATENTS,

OTHER PATENTS PENDING. SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.



ProPoint Washer 20W / 40W Landscape Stake Mounting Kit

Top of Stake

¢ 55mm 3-M5 EQS
@ 47mm for Washer 20W, 3 holes, 3pcs M5 screws,

and for Fixing Washer 40W connecting plate Stake Si: 260mm(Height): ¢ 55mm
5 _2-M5 Connecting Plate: ¢ Omm
Stake Kit includes: 1pc Stake Body 1pc
1o0° 36mm for Linear, 2 holes, 2pcs M5 screws Connecting Plate 3pcs Cross Flat Head M5 Screws

3pcs Inner Hex Socket Head Cap M5 Screw

Stake Stainless Steel Connecting Plate for Washer 40W

¢ 62mm for Washer 40W, 3 holes, 3pcs M5 screws

260mm 5mm

1Ll

TRAXON

©2023 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED. TRAXON™, TX CONNECT ®, ARE TRADEMARKS OF TRAXON TECHNOLOGIES. U.S. PATENTS, E.U. PATENTS, JAPAN PATENTS,
OTHER PATENTS PENDING. SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.

www.traxon-ecue.com



	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page



